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Note : This paper is of forty (40) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.

AT I8 W UF AT (40) 3t @1 & S 9 (03)
U ‘B, @ qAm M H oo g1 Rt @
3 @uel # U Y fawgd Ml & SFER 8wl
P SR o B |

Section-A / Gvs—h
(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nine and half (93) marks each.
Learners are required to answer two (02) questions
only.
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A @rs ‘P H AR (04) <H IWE wE 7

1.
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5% T @ oy A6 T (1) s feiRd g
RrenRial o 3 | ®ad 1 (02) T & SR o
g |

Show that the function :

f(2)= [%|

is not regular at the origin, although Cauchy-Riemann
equations are satisfied at the point.

Y b Bt -

f(2)=4 |xy
Aleg W WeR Tl @ wﬁ{ qBl | B
TG FIE B ¢ |

Find the bilinear transformation which transforms the
pointsz =2, 1,0 intow = 1, O, i respectively.

98 fgeRad wURYl UTe SISy S fd=gai z=2, 1,0
B w=1, 0,i § HYIRT B |

Prove that the derivative of an analytic function is
analytic.

Rrg PIY & Avafie Beld o1 sdbart fIvilie 2 |

Prove that :

[ 1D
y z2
where y is defined by |z|=d,d > 0.
g @ -
[ D40
y z2

39 |z|=d,d >0 RWINT &xaT 8 y BT



[3] MT—08

Section-B / Yrs—Yg
(Short Answer Type Questions) / (T ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type

qre :

1.

B-37

questions of four (04) marks each. Learners are
required to answer four (04) questions only.

Qe ‘@ # s (08) oY ST W ¥ W F
TR W @ fou AR (04) o feiRd F|
el a1 g ¥ dadt IR (04) U B IR <A
gl

Find the equation of a circle having the line joining z;
and z, as diameter.

S9 g1 BT GHIGRY S By e @ famgal
2, QAT z, BT SIS dTell T & |

Prove that, if u=x2—y2, v= _Lz both u and

(X2 +y?)

v satisfy Laplace’s equation.

T u=x2—-y2, vee— Y & guied oy ek

(x2+y?)’

v QI ST FHIERYT Bl HIE S T |

0% 02 52
5+ =4 —.
X2 oy o 0Z

0% 02 52
5+ =4 —.
X2 oy oL 0Z

Show that :

sy & :

P.T.O.
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Write short notes on the following :
(1) Magnification and rotation
(i) Inversion in the real axis and in the unit circle
ffoRad W wfere fewfoml forRay -
(i) amges vd gRepHY
(i) KA & SR FHIE g W A
Find the fixed points of the following bilinear
transformation :
3iz+1
oz
frefeaa fgXRae wuraRe & Rer fawg g I -
3iz+1
Tz
Find the value of the integral Irla dz around a circle

whose equation is |z —a| =
BT J’—dz P AF UF 9 DI IRY W S
BIfSTY forTepT THIART |2 —a| =

Show that :
2 do 21
0 2+cosezﬁ
Rrg pIfor -
2 do 21
0 21cos0 3
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8. Show that :

arg (z) +arg () =2 nn.

g oo -

Note :

arg (z)+arg (z) =2nm.
Section—-C / ue—T[
(Objective Type Questions) / (@S J)
Section ‘C’ contains ten (10) objective type

questions of half % mark each. All the questions

of this Section are compulsory.

gus T ¥ g9 (10) TGS ¥ A W 2| IS
ye & fou e 1 ofd FRiRa 21 5w wvs @
T 7o e € |

Choose the correct answer :

el S B T DI -

1. Equation gz+qz+r=0, q=0,r eR represents :
(@ Acircle
(b) A cone
(c) Aline

(d) None of these
T qz4+gz+r=0, q=0,reR oI Hxar

2
@) 99
@ =%
@) &
(€ ¥ 9 IR T
B-37 P.T.O.
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Fill in the blanks :

Rert <o 21 o AR

2.
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An analytic function with constant modulus is ............

g A1ue &7 [Avefies Bel 2T 2 |

az+b
cz+d

thenad —bc iscalled ..............

If w=TI(z)= ,ad—-bc=0 is transformation,

2D 4 box0 T EIRRY
cz+d

foefid dRaT 81, @7 ad — be BT B |

e w=I(z)=

z

LI ¢
27l J71=3 z-2
IZdZ: .............. alongthe linez=0toz=1+i.

TG IG 2=0T z=1+i P AR B J‘zdz:

Residue of f (z) at the simple pole z=ais .............
Wf(Z)WW%aZzaWW ................ gﬁ—(_‘”
g

amp Z=ampz..........
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9. The transformation w= az

is called parabolic, if

A=(a—d)?+4bc=1 ............

s w2 wwtm em AR

cz+d
A:(a_d)2+4bC:l ................ |

fn f(z)dz
10. =& fn(@) = jC(z+a)”+1 ............
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